Item Item Original Russian English Translation | Decision Revised English Reasons for changes
ID Category version version
MC- Computation | Kakoe momy4utcs What number shall Major change | What is the result of The items in the same block should be
01-1-1 | & place qucio, ecnu 3035 we get if we divide ABC x 5, where A, B, | as similar as posible in every aspect
value pasgenutsb Ha 57 3035 by 5? and C stand for other than the one that is varied on
different digits: A purpose (i.e., depth of knowledge).
stands for 6, B stands Thus, we (a) changed operation to
for 0, and C stands for | multiplication,(b) added letters as digit
7? symbols, (c) increased verbal
requirements to make this item
comparable to the other two.
MC- Computation | B paBenctee AB - 7= In the equation AB Minor change | In the expression AB x | Wording changes (e.g., from “equation”
01-1-2 | & place 147 o6ykBel A u B x 7 =147 letters A 7 =147, letters A and B | to “expression”) were intended to make
value 3aMEHSIOT LU PPBI and B stand for the stand for two different | the formulation more familiar to US
HIEPBOr0 MHOKHUTEJIS. numbers of the first digits. Find the answer | students
Haiinu 3HaueHue multiplier. Please to BA x 7, where these
seipaxkennst BA - 7,8 | find the result for digits have been
KOTOPOM T€ K& HHq)pBI the expression BA x switched.
MTOMEHSUTH MECTaMH. 7, in which the
numbers switched
their places.
MC- Computation | Kakoii camsrii 6omsimoit | What would be the Minor change | What would be the Some words have been replaced with
01-1- | & place pe3yIBTAT MOKET largest result, if the largest result if letters simpler equivalents (e.g., the word
3 value MOJTYYHUTHCSI, €CITU B letters are replaced are replaced with digits | “cipher” is virtually never used to refer

CyMMe IBYX
TPEX3HAYHBIX YHCEIT
A5B + BC3 OykBbI
3aMeHHUTh 1udpamu?
(Pa3ubie OyKBBI
3aMEHSFOTCS Pa3HBIMU

nudpamu.)

with ciphers in the
sum of three-digit
numbers? ASB +
BC3

(Different letters are
replaced with
different ciphers)

in the sum of these
three-digit numbers:
A5B + BC3

(Different letters are
replaced with different
digits)

to digits).




MC- Place value Haiinu pasaocts Find the difference Major Change | Circle the largest Since this item is supposed to test the
03-1-1 caMoro GOJIBIIOTO between the largest number: knowledge of place value, it shouldn’t
camoro maneHbkoro u3 | and the smallers of 10073 contain additional computation
CIICTYOIIHAX YHUCEIT: the following 1801 components.
10073, 1801, numbers: 9999
9999, 10110 10073, 1801, 10110
9999, 10110
MC- Place value | Kakoe umcio Hamo Which number must | Item replaced | Circle the smallest It is not clear how the original item fit
03-1-2 YMHOXUTb Ha 152, be multiplied by 152 | with a new number: in the present block which seems to test
9TOOBI MOTYYUIIOCH in order to get an one 14 tens and 9 ones understanding of place value. We
3nauenue 6onpire 1300, | amount larger than 1 hundred and 5 tens changed the item so that it is about
Ho MenbIe 15007 1300, but smaller 12 tens and 39 ones place value — just like the level 1 and 3
than 1500 140 ones items, but requires a deeper, more
flexible understanding than the level 1
item
MC- Place value Hike n3o0paskeHsbl Below, three Minor change | Below are three The second sentence was reworded to
03-1-3 Tpu umcna: 535, 53,5 numbers are shown: numbers: simplify the syntax.
3anuiy ux Jpyr 3a 535,53,5 535,53,5

JPYroOM B TAKOM
MOPSIZIKE, YTOOBI
MOJTyYHBIICECS
[IECTU3HAYHOE YHCIIO0
OBLIIO KaK MOXKHO
MEHBIIIE.

Put them one behind
the other in such an
order that the
resulting six-digit
number is the
smallest of the
possible options.

Put them one after
another in an order that
results in the smallest
possible six-digit
number.




MM- | Geometry/ CKOJIbKO KBaIpaTHBIX How many square Minor change | Measure the area of the | The wording in this and other items
02- Measurement | caHTUMETpOB centimeters is area large rectangle below within this block has been changed to
1-1 COCTAaBIIACT MO of the ABCD using the small square | be more comparable across items SO
Area pSMOYTOJIbHHUKA rectangle? as the unit of that the only variable factor is the type
ABCD? measurement. of relation between the target object and
the unit of measurement.
MM- | Geometry/ CKOJIbKO KBaJIpaTHBIX How many square Minor change | Measure the area of the | Same as above
02-1-2 | Measurement | caHTUMETPOB centimeters is the large shape below using
COCTAaBIISET IIOIIANb area of the shaded the rectangle as the unit
Area 3akparnreHHoi ¢puryper? | figure? of measurement.
MM- | Geometry/ W3meps ruromiaip Measure the area of | Minor change | Measure the area of the | Same as above
02-1-3 | Measurement | 60BIIIOTO the larger triangle larger triangle below
TPEyrobHHKA, using the area of the using the smaller
Area ucrosb3ys B kauectBe | smaller triangle as triangle as the unit of

€IUHUITBI U3MEPECHUS
IJIOIA b MAJIEHBKOTO
TpEyroJbHUKA. 3aMUILIn
TIOJTYIHBIIIEECS YHCTIO.

the unit of
measurement. Write
down the resulting
number.

measurement.




MM- | Geometry/ W3mepb 1y Measure the length | No change Measure the length of
03-1-1 | Measurement | JioMaHO¥ JIUHUH B of the jagged line in the jagged line in
CaHTHMETpAX. centimeters. centimeters.
Units of
measure
MM- | Geometry/ W3 otpeskos muHoi a | Various jagged lines | Minor change | Which jagged line has | Wording change was intended to
03-1-2 | Measurement | u b cocraBieHbI were made up using the length that simplify the formulation, in particular —
JIOMaHBIC JINHUH. segments @ and b. corresponds to the get rid of referring to “a” and “b” as
Units of Jnuny kakoit momanoii | Which jagged line expression 4a + 2b? segments.
measure MO’KHO BBIYHCIIUTS C corresponds to the
MTOMOIIBIO BBIPKEHUS expression 4a + 2b?
4-a+2-b?
MM- | Geometry/ B npsmoyronbsauke co | A jogged line is Item replaced | Draw a straight line The original version placed too much
03-1-3 | Measurement | cropoHamMu a u b drawn inside the with an item from point T that is the | emphasis on children’s understanding
MpoBeIeHa JIOMaHast rectangle with the froma same length as the of algebraic expression, which is not
Units of JIHHMSL. sidesa and b. different block | jagged line going from | relevant to evaluating their
measure OTMmeTh BhIpaKEHHE, Please point out AtoB. understanding of measurement units.

KOTOPBIM OIIHMCHIBACTCS
JJIMHa STOMH JIMHHUU:

A) a+b bB) a-b
B)a+2b I')2a+
b o) 2a+2b

which expression
describes the length
of this line:

A)a+b B) a-b
C)a+2b D)2a+b
E)2a+ 2b

The new Level 3 item appeared to
provide a better fit to Level 1 and 2
items




M-M- Yemy paBHa JUTHHA Eliminate There is a common reason for this and
06-1-1 orpeska AB? other eliminated items: due to testing
constraints we had to reduce the
number of items so that the test could
be done in 45 min. All of the eliminated
items were deemed less critical than the
ones that were kept. Some of the
eliminated items were redundant with
the existing ones in terms of concepts
they assessed and others (e.g., patterns)
were not relevant to curricular goals.
M-M- Haiinu nepumetp Eliminate See note for item MM-06-1-1
06-1-2 MPsIMOYTOJIEHUKA
M-M- Oty10%xu OT TOUKH T’ Eliminate This item was moved to the previous
06-1-3 OTpPE30K, JTMHA (item re-used block
KOTOPOTO paBHA JITHHE in another
JIOMAHOM JTHHHH. block)
M-M- | Geometry/ CropoHa kBajpara No change The side of a
11-1-1 | Measurement | paBHa 3 cm. square is 3 cm
long.
Perimeter What is the
perimeter of the
square?
Geometry/ JnuHa npsAMOyToJIbHON Minor change | The length of a We eliminated the real-life context
M-M- | Measurement | CIOPTHBHO# IIOIAIKH rectangle is 40 cm. from this problema because the other
11-1-2 paBHa 40 M. What is the width of the | two items in the same block are not
Perimeter Haiinu ee mupuny, rectangle if its contextualized.

€CII TIEPUMETP PaBeH
120 m.

perimeter is 120 cm?




M-M-
11-1-3

Geometry/
Measurement

Perimeter

Ksagpar co cropoHoii 8
CM paspe3ajy Ha JIBa
MPSIMOYTOJILHUKA.,
ITepumeTp ogHOrO U3
HHX paBeH 26 CM.

UeMy paBeH mepuMeTp
JPYToro
OpSIMOYTOJIbHUKA?

No change

A square with an 8 cm
side was cut into two
rectangles. The
perimeter of the first
rectangle is 26 cm.
What is the perimeter
of the second
rectangle?

M-R-
02-1-1

3a KBaJpaTHBIA CTOJIUK
MOTYT OJIHOBPEMEHHO
cecTh 4 THOMa, TI0
OJTHOMY C KaXXJI0H
CTOpPOHBI. 4 TaKuX
CTOJIMKA COCTaBMJIN
BIUIOTHYIO OAMH K
apyromy. CKonbko
THOMOB MOT'YT CECTh 32
MOy YUBIIHICS
JUIAHHBIA CcTOI?

Eliminate

See note for item MM-06-1-1

M-R-
02-1-2

3a KBaJIpaTHBIA CTOJIUK
MOTYT OJIHOBPEMEHHO
cecTh 4 THOMA, 10
OJIHOMY C KaXKJI0H
CTOpOHBIL. 20 TaKux
CTOJIMKOB COCTAaBHJIN
BIIOTHYIO OJIVH K
npyromy. CKOJBKO
THOMOB MOT'YT CECTh 3a
M-nony4uuBIIHICS
JUTMHHBIN CTOa?

Eliminate

See note for item MM-06-1-1




M-R-
02-1-3

3a CTOJIMK THOMBI
CaJISITCS TI0 OJTHOMY C
KaKJIOW CTOPOHBI.
CTOJIMKH COCTaBUIIN
BIIOTHYTO OZFH K
Apyromy. YKaxu
IUIMHHBIA CTOM, I
KOTOpPOTO KOJIMYECTBO
THOMOB, CUIAIINX 34
HUM, IIOJCUYUTHIBACTCA
o popmyne 5 -2+ 4 -
50 = 210.

Eliminate

See note for item MM-06-1-1

M-R-
05-1-1

Ksanpats! u
TPEYTOJIbHUKU
pacrmonararoTcs B pag
IO OIIPEICIIEHHOMY
npasuity. Bor Hauano
atoro pana: Hapucyi
CIIEAYIOIINE TPH
¢buryps.

Eliminate

See note for item MM-06-1-1

M-R-
05-1-2

Ksagpate! u
TPEYrOJIbHUKU
pacIoyiararoTcs B psij
1o

ONPEEICHHOMY
npasuiy. Bor Hauano
ATOTO psa:

CKOJIBKO
TPEYrOJbHUKOB B TAKOM
pSAIy, €CTTH BCETO B HEM
32 ¢urypsr?

Eliminate

See note for item MM-06-1-1




M-R KsaznpaTsr u Eliminate See note for item MM-06-1-1
05-1-3 TPEYTrOJIBbHUKHI
pacnojiararoTcAa B ps
10 ONpe€ACIICHHOMY
npasuiy. Bor Hauano
9TOTI'O psaa:
Kakoii caMpIii [iIMHHBII
psa (CKOJBKO BCEro B
HeM QuUryp) MOKHO
IOCTPOUTD, €CIIU
nMeercs 12 kBaapaToB
u 15 TpeyroapHUKOB?
M-G- | Geometry/ ITocTaBk TOUYKY TakK, Put a point inside Minor change | Put a dot in this picture | One of the depicted figures was
01-1-1 | Measurement | 4roGsI oHa nexana this combination of so that it is inside the changed from triangle to rhombus and
BHYTPH KBajipara u figures, so that it is rhombus and the circle | the other was changed from square to
Shapes TpeyroJibHUKA U OblIa inside the square and and outside the rectangle in order to make the task of
BHE KpyTa. the triangle and rectangle identifying/naming shapes a bit more
outside the circle. challenging.
M-G- | Geometry/ Kakwe u3 puryp Which of the No change Which of these figures
01-1-2 | Measurement | sBisrorcs depicted figures are are rectangles?
PAMOYTOJIbHUKaMU? rectangles? Circle ALL of the
Shapes OT™meTh Bee Point out ALL of the correct answers.
NPABUJIbLHBIC OTBCTHI. correct answers.
M-G- | Geometry/ CKoJIbKO How many No change How many rectangles
01-1-3 | Measurement | mpsiMOyroIbHHKOB rectangles does the does line AB cross?
nepecekaeT npsmMas AB line cross?
Shapes AB?
M-D- | Quantiative | Koxs Beire [Tern Ha 15 | Nicholas is taller Minor changes | Nicholas is 15 cm taller | Wording changes were made to make
03-1-1 | relations cM. Poct Ko 1 m 60 than Peter by 15 cm. than Peter. Nicholas is | the sentences read more easily.
cM. Haiiou poct ITetn. | Nicholas is 1 m 60 1 m 60 cm tall.
Word cm tall. Please find How tall is Peter?.

problems

how tall is Peter.




M-D- | Quantiative | B mpomutom roxy Cama | A year ago Sasha Minor changes | A year ago Sasha was 7 | The name was changed from Masha to
03-1-2 | relations Obu1 Hbke Mamum va 7 | was shorter that cm shorter than Molly. | Molly to make it sound more familiar.
cm. 3a rox Cama Masha by 7 cm. Over the year Sasha
Word moapoc Ha 9 ¢cM, a Over the year Sasha grew by 9 cm and
problems Mama Ha 4 cm. Kto w3 | grew by 9 cm and Molly by 7 cm. Which
JIETeH ceiiuac BhIIIE U Masha by 7 cm. child is taller now and
Ha ckoibko? Beioepu u | Which child is taller by how many
JIOTIOJTHY TIpaBHJIbHBIA | NOW and by how centimeters?
OTBET many centimeters?
M-D- | Quantiative | Poct Murmm 1 M 50 cm. | Michael’s height is | Minor changes | Michael’s height is Im | The name “Nicholas” was changed to
03-1-3 | relations Poct Komu otiimgaercss | 1m 50 cm. Nisholas’ 50 cm. Sam’s height Sam in order to avoid having the same
OT pocTa Muiu Ha 5 height differs from differs from that of name in two items. The wording was
Word cM. Poct Butn that of Michael’s by Michael’s by 5 cm. simplified.
problems OTJIMYaeTCs OT POCTa 5 cm. Victor’s Victor’s height differs
Komwu Ha 10 cm. height differs from from Sam’s height by
W3BecTHO, 4TO TO1 Nicholas’ height by 10 cm. A year ago
Hazaj Butun poct 01 | 10 cm. A year ago, Victor was 1 m 48 cm
paBeH 1 M 48 cMm, a as is known, Victor tall and now he is less
ceituac on Menpmie 1M | was 1 m 48 cm tall than 1 m 60 cm. How
60 cMm. Kakoii poct and now he is less tall is Victor now?
Burtn ceiiuac? than 1 m 60 cm.
How tall is Victor
now?
M-D- [etst u Konst cobupator Eliminate See note for item MM-06-1-1
05-1-1 mamuHky. Y [letu 12
MalInHOK, a 'y Konu Ha
2 MaIllMHKHW OOJIBIIIE.
CKOIIBKO BCETO
MAaIIHOK y 000uX
MAaJIbYMKOB BMecTe?
Oé\/IiDz- B manenbkoi KopoOke Eliminate See note for item MM-06-1-1

noMeraercs Ha 10
KapaHJalie MeHblle,




10

4YeM B CpelIHEM, a B
OOJIBIIION — HAa §
0oJIbllIe, YeM B
cpeaHe.

Ha ckonbko MeHbIIIe
KapaHJauieu
MOMeEIIaeTCs B
MaJeHbKOU KOpoOKe,
yeM B OOIBIION?

M-D-
05-1-3

B kopoOke nexut
HECKOJIBKO
kapanpameil. Eciau ato
YUCIIO KapaHialen
YBEJIMYUTH B 2 pasza, TO
B KOPOOKe OocTaHeTcs
MECTO e1e s 2
Kkapanzgameil. Ecim xe
KOJMYECTBO
KapaHJaIieu,
HAXOISIIUXCS B
KOpOOKe, YBEIHYUTH B
3 paza, To s 3
KapaHJalieil He XBaTUT
Mecrta. Ha kakoe
KOJIMYECTBO
KapaHjaamei
paccuuTaHa Kopooka?

Eliminate

See note for item MM-06-1-1

M-D-
08-1-1

B oxnoit Oanke 3 11
sI0JIOUHOTO COKa, a B
JIpyTroi OaHKe 5 1
BHHOTPAIHOTO COKa.
CKOJIBKO TUTPOB
BUHOTPAIHOTO COKa

Eliminate

See note for item MM-06-1-1
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HYXHO BBITTUTb, YTOOBI
€ro CTaJIo CTOJIBKO K€,
CKOJIBKO s10J10YHOTr0?

M-D-
08-1-2

B nepBom akBapuyme
65110 20 71 BOJEBI, a BO
BropoM 10 1. Korna u3
MEPBOTo aKBapuyma
4acTh BOJBI MEPEIIHITN
BO BTOPOH, TO B HEM
cTano 6oiblre Ha 14
JIUTPOB, YEM B [IEPBOM.
CKOJIBKO JTUTPOB BOABI
nepenwin’?

Eliminate

See note for item MM-06-1-1

M-D-
08-1-3

Beicora nepesa 8 m.
VimTKa 3a IeHb
MOJTHUMAETCS IO JIEPEBY
Ha 3 M, a 32 HOYb
oryckaercs Ha 2 M. Ha
KaKoH JIeHb yJIUTKa
JIOTION3ET 0 BEPXYLIKU
JIepeBa, eclii HauHeT
MIOJI3TH OT 3eMJIn?

Elilminate

See note for item MM-06-1-1

M-R-
03-1-1

U3 kpacHBIX, KETHIX,
3CJICHBIX U CUHUX
(haxKoB cienanu
TUPISHITY, B KOTOPOU
(hIaXKKH PaCIIOIOKEHBI
B CJICIYOIIIEM
nopsiake:... Kakoro
1Beta (IIaXkok
Haxonutcs Ha 10 mecte
OT HavaJia TUPJISTHBI?

Elilminate

See note for item MM-06-1-1

M-R-
03-1-2

W3 kpacHBIX, KENTHIX,

Elilminate

See note for item MM-06-1-1
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3€NIEHBIX U CUHHIX
(hmaxKoB caenaan
TUPJSHITY, B KOTOPOU
(hImaXKKH PaCIIOIOKEHBI
B CJIEIyIOIIEM
nopsake:... Kakoro
1BeTa (IIaXKok
HaxoJIUTCA Ha 55 Mecte
OT Hayvaja TUpJsHAbI?

M-R-
03-1-3

N3 xpacHbIX, XKENTHIX,
3€JICHBIX U CHHHUX
(hraxxkoB cuenanu
TUPJISIHAY, B KOTOPOH
(hbIaKKH PaCIIONIOKEHBI
B CJICAYIOIIEM
nopsiake. .. OT Hayana
TUPJISTHIBI OTPe3an
KYCOK, B KOTOpoM 50
¢naxkoB. CKOJIBKO
cpeau HUX (PIaKKOB
SKEJNITOro nsera?

Elilminate

See note for item MM-06-1-1

M-C-
05-1-1

Kaxkoe uuncno B 3 paza
Oobire, ueM guciao 127

Elilminate

See note for item MM-06-1-1

Haiinu npousBenenue
JIBYX YUCEJ, €CIIU OJTHO
13 HEX 6, a Apyroe Ha 7
OouIblIIE.

Elilminate

See note for item MM-06-1-1

Camma 3agymarn aBa
HaTypaJlbHBIX YUCIIa,
OJTHO M3 KOTOPBIX
OosblIe Apyroro Ha 7.
Kakue 310 yncna, eciu

Elilminate

See note for item MM-06-1-1
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UX TIPOU3BENICHHE
paBHO 607

Quantiative | Onpenenu no pucynky, | Looking at the Minchanges Based on Fig 1, find the | We replaced “cannon ball” with a more
M-M- | relations, CKOJIBKO BECHT SAPO drawing tell how weight of the ball neutral word “ball” and we referred to
08-1-1 | pre-algebra much does the ball tbe figure as Figure 1 to be consistent
weigh. with the format of Level 2 and 3 items.
Quantiative | Mmerorcs omuHakoBeie | There are equal Major change | The figures below show | We decided not to introduce the box
M-M- | relations, JqyryHHbIE s1pa U siuk | cannon balls as well several identical balls. | until Level 3 — in the original version,
08-1-2 | pre-algebra | st ux XxpaHeHUsL. as a box for their Based on Fig. 1, find Level 2 and 3 items did not appear to be
ITo pesynbraram aByx | storage. Using the the weight of the three | sufficiently distinct in terms of
B3BeIIMBaHuUi, KoTopbie | results of two balls in Fig. 2. conceptual requirements. At the same
MoKa3aHbl Ha pucyHKax | weightings shown in time, to make sure that the revised item
1 u 2, onpesieny, Figs. 1 and 2 find qualifies for Level 2, we added a ball to
CKOIIBKO BecHT sAmuk ¢ | out the weight of the the other side of the scale in Fig. 1
Tpemst siapamu (puc. 3). | box with three
cannon balls (Fig.3).
Quantiative | Mmerorcs omuHakoseie | There are equal Minor changes | The figures below show | The wording was changed to make it
M-M- | relations, 4qyryHHbIC si7ipa U siuk | cannon balls as well several identical balls more consistent with Level 1 and 2
08-1-3 | pre-algebra | must ux xpaneHusl. as a box for their and a box that is used items.

[To pesymbTaTam aBYX
B3BEIIMBAaHUH, KOTOPHIE
MOKa3aHbl HA PUCYHKaX
1 u 2, onpenenu,
CKOJILKO BECHT SIIIHK C
YETBIPHMS SIPaMHU

(puc.3).

storage. Using the
results of two
weightings shown in
Figs. 1 and 2 find
out the weight of the
box with four
cannon balls (Fig.3).

to store them. Based on
Figs. 1 and 2, find the
weight of the box with
four balls in it (Fig. 3).

Summary of items in the revised test:
4 blocks on geometry/measurement: (1) unit of measurement, (2) area, (3) perimeter, (4) shapes
4 blocks on numeric math (1) place value, (2) computations, (3) numeric relations/word problems, (4) quantitative relations/pre-algebra




